
Task 2 

 

You are an endocrinologist, a 43-year-old patient came to see you, was 

operated on 2 months ago for thyroid cancer T2N0M0Gx. Surgical intervention in 

the form of a total stumectomy. She took L-thyroxine in the postoperative period. 

No complaints were made during the entire postoperative period. 2 hours there 

were interruptions in the work of the heart. An incomplete blockade of the 

sinoatrial node was diagnosed on the ECG. After the appointment of cardiotonics, 

bradycardia began to increase, hypotension developed. Please name the 

complication that has occurred over the next 5 minutes. What gland dysfunction 

has developed, what laboratory parameters need to be clarified to make a complete 

clinical diagnosis, what symptoms will arise in the future? Which group of drugs 

should be used, indicate the main links in the pathogenesis of the complication. 

 

 


